
3,5x165x8
x12 szt. x2 szt.x6 szt.x1 szt. x16 szt.

8x35
x4 szt.

Nie zawiera

1a

 FIBI rama full A.M.

B A

M6x31
x4 szt.

M6x16
x4 szt.

5x30
x8 szt.

M6x50
x10 szt.

M6x75
x6 szt.

M6x30
x4 szt.

6.3x13
x12 szt. x4 szt. x2 szt.

M6x31
x4 szt.

A B C D E F G H I J K L M N O P R

H

I
H

x12 szt.
320 mm

S T

x16 szt. x5 szt.

III

II IV

I

4x50
x24 szt.

UQ

M6x16
x4 szt.

4,5x30
x4 szt.

 I

2 szt.

4 szt. 4 szt.

2 szt.

V W

5x60
x8 szt.x4 szt.

X

M6x20
x6 szt.

350 mm

1/7

Y

x4 szt. x4 szt.



D

R

S

1b

1c

C

C
H

J
R

2a II

O
O

2 szt.

2 szt.

4szt.

4szt.

2 szt.

2 szt.

8 szt.

T

2 szt.

H

2 szt.

U

2 szt.

E

2 szt.

TT

2/7

Q

I



D

R

S

S

R

D

III
3

T

2 szt.

H

2 szt.

U

2 szt.

8 szt.

4a

H

2 szt.

D

4 szt.
4 szt.

G

IV

2 szt.

E

E

6 szt.

2 szt.

2b

G

2 szt.

J

TT

TG

3/7



4b

5

5-10
 mm

Montaż nóg
nie wymaga
nawiertów

W

W2 szt.

2 szt.

5-10
 mm

Montaż nóg
nie wymaga
nawiertów

W

2 szt.

W

2 szt.

V

V

4/7



6

III

IV

Nie dokręcać śrub7a

III

IV

II

5/7

1szt.
Q

6szt.
Q



7b Nie dokręcać śrub

6 szt.

E

8

6/7



NL
x6 szt.

x12 szt. o
x12 szt.

Dokręcić śruby

P

9

10 11

12
M x4 szt.

x6 szt.

X

7/7

Y

x2 szt.


